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How can we write § as tenths?

6

o=
Ul

.h

(O,

U

oA

o

W Ulgo

o

Before we start this lesson, have this fraction in
front of you. Either printed out or drawn out.
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How can we write 2 as tenths?
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What is 2.
9

Where is 2 shown on the bar model?
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How can we write § as tenths?

The whole is divided into 5 parts.
Each part is 1 fifth.
The two coloured parts are two fifths. 2
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B What do you understand by tenths.
y What does it tell us about the

92 whole?
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It means the whole is spllt into 10
1
6

e equal parts.
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How can we write 2 as tenths? 5;
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How 5 parts can be converted into 10 parts?
How do we get 10 from 57
Can we use multiplication?

)7 0 1594 00&3 Y5 51114758,

N

N\

R
(e



126 O 2@
3,..”3 —/J _w.».mv‘

=

és
I

(a3
1_
P’
/
N “les @
. ZA " VZ Yy
) x x
— _ wn 4
— =
~ =
2
- (Fp
. JTl
. ~N| S i
e - n
‘ ) = )
@ - N
c = .
ﬁ N — |3
) k-
{ &= 3
-
-
o
3 - -
0 I~
°H o
\ . -
(-]

711
61

o) &= (YN, e RO



SO (o (M)
—
(o))

)
e

SN

02
-

s
5
354
7

2

o

S
6@34 8)7 67940043 35 511714756,




AN

09 (o

=l
=9

SN

U

=
—
» ~—
L8]

Y o
5 x2
354

2
7i

6 A38)7 B 71940043375 51114756,




AN

09 (o

=l
=9

a3

U

'C_\
R
p ~—

wn

10

. o
5 x2
354

2
/i




g
J 2 10
1 3 9
5 =
41 ‘l‘, N
9 o o 2
3 9

6 A38)7 B 71Y4.043 9V 51414753,

57'i‘ Watch video clip "Explanation 1" |
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o Find the missing numerators.
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g4k What have the denominators been
g 7 multlplled bg?

7%‘ Do the same to the numerator.
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Challenge

The denominator is
more than 10 but less

6
B o - than 15.
6
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91 Think about what you need to multiply the
demoninator by to get a number between 10-15.

7

4

g THEN

35 Z Do the same to the numerator.
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A Explore this.
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Find the missing numerato
Shade the bars to find the

(a)

(b)

Finding Equiva
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Going Deeper
See if you can find some additional
equivalent fractions for each question.
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Work out

some of your
own.




